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(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(DA 2.277 0.002 - 0.407 0.012 &
A T 1.512 0.000 - 0.743 0.053 =
(L& (HCI) 4,545 0.022 - 0.218 0.121 =
mIbE (HF) 0.306 0.003 - 0.102 0.039 s
— &b (SO2) 15.147 0.106 - 5.893 2.574 =
—4& kbR (CO) 7.578 0.000 - 0.066 0.025 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.987 - 9.616 2.774 =
s E
(b) [FFEEEH - HI9ME (HSEHBRENLASKEE)
(A 0.756 0.007 - 0.033 0.012 &
HEA T 0.756 0.013-0.118 0.053 =
#F/bE (HCI) 0.756 0.058 - 0.159 0.121 s
wAbE (HF) 0.072 0.024 - 0.054 0.039 =
— &b (SO2) 3.789 2.271 - 3.069 2.573 =
—&Ei% (CO) 3.789 0.009 - 0.051 0.025 =
HAY (NOx)
D= %AEE (NOY) 15.147 1.815 - 5.743 2.771 =
ETE
28 HERRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEFTER)
K 0.003789 <0.0004 =
S SE VAR 0.003789 <0.0016 =
B EEE® 0.0378 <0.007 e
IR R g (M) 7.575x 10°° <7.793 x 1020 &
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S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.002 - 0.078 0.005 &
LA 1.512 0.000 - 1.102 0.054 =
/L4, (HCI) 4,545 0.055 - 0.241 0.158 =
mIbE (HF) 0.306 0.003 - 0.080 0.033 s
— &b (SO2) 15.147 0.010 - 7.604 2.407 =
—4& kbR (CO) 7.578 0.000 - 0.116 0.020 =
HELY (NOx)
PL—&/EE (NO2) 30.303 0.481 - 8.500 2.086 =
s E
(b) [FFEEEH - HI9ME (HSEHBRENLASKEE)
(A 0.756 0.004 - 0.009 0.005 &
LA 0.756 0.007 - 0.122 0.054 =
ZF/bE (HCI) 0.756 0.112 - 0.208 0.158 s
wAbE (HF) 0.072 0.023 - 0.049 0.033 s
— &b (SO2) 3.789 2.169 - 2.587 2.407 =
—&Ei% (CO) 3.789 0.007 - 0.064 0.020 =
HAY (NOx)
D= %AEE (NOY) 15.147 1.212 - 3.842 2.091 =
ETE
28 HERRE® BEa=st R R
(kg/hr) (kg/hr) (/)
(c) FREN (HELEFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0013 =
B EEE® 0.0378 <0.0057 e
IR R g (M) 7.575x 10°° <6.365 x 1020 &
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(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.001 - 0.106 0.004 &
LA 1.512 0.005 - 0.665 0.070 =
/L4, (HCI) 4,545 0.010 - 0.158 0.095 =
mIbE (HF) 0.306 0.002 - 0.052 0.028 s
— &b (SO2) 15.147 0.063 - 2.424 1.767 =
—4& kbR (CO) 7.578 0.001 - 0.126 0.044 =
HELY (NOx)
PL—&/EE (NO2) 30.303 0.346 - 4.506 1.056 =
s E
(b) [FFEEEH - HI9ME (HSEHBRENLASKEE)
(A 0.756 0.002 - 0.010 0.004 &
LA 0.756 0.009 - 0.159 0.070 =
Z/LE (HCI) 0.756 0.053 - 0.135 0.095 s
wAbE (HF) 0.072 0.016 - 0.038 0.028 s
— &b (SO2) 3.789 1.640 - 1.987 1.768 =
—&Ei% (CO) 3.789 0.017 - 0.094 0.044 =
HAY (NOx)
D= %AEE (NOY) 15.147 0.640 - 1.938 1.059 =
ETE
28 HERRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0013 =
B EEE® 0.0378 <0.0056 e
IR R g (M) 7.575x 10°° <6.314 x 1020 &
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